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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

QL @relier sipeliae etdegrear S AoTRT 3 fqsr, | Questior; ID : 9864494258
Status : Answered
4 3 1 Chosen Option : 1
64 8
? | 2
25
Select the option that gives the number missing from the following figure.
5
4 1
64 8
? | 2
25
Ans « 11
X292
X3
X a4
Q2 "reiTel 92T HIEaT: Question ID : 9864492559
45 — [38 _ {5[] .3 (6 s 3:] = 3]_] =7 Status : Not Answered
Chosen Option : --
Solve the following:
45 — [38 — {60 =~ 3 — (6 — 9 + 3) = 3}]
Ans X 1. 25
V2 26
< 324
<421
Q.3
Question ID : 9864492714
Status : Not Answered
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SR SN A1) 2em F ARECT G OB 488 cm’ o A1, TR O l Chosen Option : -- J
Iciles FET e fRar e

Tf the edge of a cube is increased by 2 cm, the volume will increase by 488 cm?®. What
then will be the length of each edge of the cube?

Ans 8 cm

W L

&cm
6 cm

~ 2.

6 cm
0 cm

5 .

0 cm
7 cm

~< 4

7 cm

Q4 3T AB YR 31T, fEeiea Mpeaieeie IO 3palr TR Aoy

; Question ID : 9864493895
I wiafes ang?

Status : Answered
Chosen Option : 4

Problem Figure

g |

Answer Figures
A B C. D

Problem Figure - SeaTder HTpar
Answer Figures - 3ccHiaTel 3Tl

Choose the correct mirror image of the following figure if the mirror is held at AB line.

Problem Figure

Answer Figures

fi T2
oF |o \ ole
A B o D

Ans XlB

X2 A

Xac

v 4D
Q.5 v R waT N TThieT 4 ATETAEY HE bl T GET IS U7 Soiea arRhiar

10 ArETFe i 5 Al TrRhT 31eff R S1Eare ciedl T8 J& HI0aTd e,

T TR Ot s el 38 e Status : Not Answered
Chosen Option : --

Question ID : 9864492691

One pipe can fill an empty cistern in 4 hours while another can drain the cistern when full
in 10 hours. Both the pipes were turned on when the cistern was half-empty. How long
will it take for the cistern to be full?

Ans
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x, 6TTE40 At

6 hours 40 minutes

5 arw 30 AT

5 hours 30 minutes

4 arg 20 A

4 hours 20 minutes

3 ar| 20 A

3 hours 20 minutes

7~ 2

< 3.

v

6
Q6 Fatg vy T AT Wrele aTET O Question ID : 9864493968

Status : Answered
Chosen Option : 2

Tl T AgHT T .
Complete the following sentence with the most appropriate option.

A king will always have a .

Ans :

1 T

Minister

v
Kingdom
deldiy
Sword
< 4

Queen

p )

Q.7
Question ID : 9864493797

Status : Not Answered
Chosen Option : --
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Teerelr ATfEcl </t x e, 2017 Aed Wl AiGTHIST AGUl Silelear gamh! 3T ThoT

TR (FoRIAEY) HEAT Zeed

9 HIEIHES G waic garhl geiaal 0T GHY HHIG UHYT dlEdiaT guar.

# o 57 2017 wT gaET dAgeid B e Sl 3

jan feb mar apr may jun

The data given shows the registration of bikes and total vehicles (in thousands) for six
months in 2017 in eity X

Note: In the chart, the first number represents bikes and the second number represents
total vehicles.

The increase in registration of bikes from May to June 2017 is:

on fes mar spr may. un
Ans X 1. 70%

< 2. 69%

< 3. 60%

W 4 64.7%

el R TaTH HE Ahe ATET? Question ID : 9864493243

Status : Answered

Sound CANNOT travel through:
Ans
<L A
Liquid

Chosen Option : 2

9 . s g
Q9 wofafeeg grialae bt fer 2017 Far Question ID : 9864492288

The Fugitive Economic Offenders Bill 2017 was passed by which ministry? Status : Ahswered
Ans Chosen Option : 4
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x 1 HAH HAT
Labour Ministry

, T Hrer
Commerce Ministry

x

.10
Q10 Frefrerter a1y arreeT=r AT TawT A Question ID : 9864493172

Which of the following is NOT the combined form of carbon? Status : Answered
Ans o= Chosen Option : 3

b

Dolomite

Q11 7y 192 971 #1 T HEA 10 &, A T 5 et 91 Wl o1 et B2 Question ID : 9864492605

If 192 pens cost is 10, how many pens can be bought for T 5? Status : Answered
Ans "1 4R Chosen Option : 2

v 2 06
X< 356
< 472

o m qm m 3'"?? Question ID : 9864492744
Among the following which is a rational number? Status : Answered
Ans X 1 ‘v‘j
v 2 38
X333

X 4312

Chosen Option : 1

Q.13 wreirer o Fofr FETeT ‘HEsedir U =T 3N0SF TEaA=R e
~ 2 2 Question ID : 9864493374
el 3
‘Who stated the following law: ‘The properties of the elements are the periodic function of Status : Not Answered
their atomic masses’? Chosen Option : --
Ans s
! CEDS)
K ~F
Newlands
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Araelr

Moseley
v s
Mendeleev
CiCrrery

Dobereiner

p )

& 4

Q14 wiprrm afor FEF SRR Rgerr o anfor ey Fer arEde T @
Fgern g8 weET For e

If the first and third members of a Dobereiner triad are Phosphorus and Antimony, the )
second member of this triad is: Chosen Option : --

Ans
1 HoEA
Todine
2
' Sulphur
x s, HicaaH
Calcium
v o Tt
Arsenic
QL oo EeHe wRafdegrear Sl vy ug fHast Question ID : 9864494321

Status : Answered

Question ID : 9864493093
Status : Not Answered

Chosen Option : 1

? IR ,HQ .,GP

Select the term missing from the given series.

PG, QH. RI. ?
Ans ‘,'1_ Js
X2 TL
<3 TS
K 4K
Q.16 g FEwET U 40 el FATRhT T HEAT 2,50 I GHA HEAT S0

&
The product of two numbers is 40. One of them is 2.50. What is the other number?

Ans Xl- 15
< 212
X 314
v 16
Q.17 Zergr wfcreastt WFHUATHIST A <ol AT Wafdd eaell = e 3%

aeaaT R e OifEs.

To hear a distinct echo the time interval between the original sound and the reflected i .
sound must be at least: Chosen Option : 1

Question ID : 9864492941
Status : Not Answered
Chosen Option : --

Question ID : 9864493324
Status : Answered
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Ans - 1 m
1 second
v 01 e,
0.1 second
o 020
0.2 second
X2 v

2 seconds

Q.18 2017 el FEA, JTAT AT FOEAT Tos JefafiesT FFaaaTaT Faia Hof
gavvEF Swmer?
‘Who won a gold medal in the World Weightlifting Championship at Anaheim, USA, in
20177

Question ID : 9864492219
Status : Answered
Chosen Option : 2

An :

g - Haletr A
Kunjarani Devi
e e

| Vandna Gupta

X3 FUTH Hooradl
Karnam Malleswari

v FRaTs RS

Mirabai Chanu

p )

Q.19 g=fiTr wEsheaTal Huesd (NBA) Fag @iiolear dfgedr ARG sae=dTiie
Name the professional Indian basketball player who became the first ever player to be
drafted from India into the National Basketball Association (NBA).

Question ID : 9864492350
Status : Not Answered
Chosen Option : --

Ans
x 1 3fehold 91T
Akilan Pari
\ v o
Yadwinder Singh
| T FHT s
Satnam Singh Bhamara
, =T fEer
Ajmer Singh

x

v

x

Q.20

Question ID : 9864493645
Status : Answered
Chosen Option : 4
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TRIEY AR W 0T WreerdeT v/ EdHR(R) Jafifad g &
oldl.

GL>
3200 SIET UGSl WES @RH WU Ueh 33SIUTYA dIeUAIa el g, A 6l
AT FIREAT a9 Hiid =ATgT.

SR
1. 3gamTe aiuer FeiE 3.
2. 3ZSIYETAT HHAIGT T FLOA FHetell o, ST T Foll darn el 3175,

Consider the argument and decide which of the given assumptions is/are implicit.
Argument

A flyover has been constructed with a whopping cost of ¥ 200 crores, yet people are not
utilising the flyover much.

Assumption

1. Construction of the flyover is useless.
2. The time, money and energy spent on the construction of the flyover was wasted.

Ans 113ﬂﬁ‘r2aﬁ‘°raiaﬁﬁaaﬂﬁ.

<
Both 1 and 2 are implicit.
| P TedE 1 3fafafgd 3.
Only assumption 1 is implicit.
| A AR 2 FidfAfea e
Only assumption 2 15 implicit.

«41311%23’!?@@[31?!%1%33@-

Neither 1 nor 2 1s implicit.

x

x

Q.21 :300 7@ Ton &= Iovh wEE wmEe wEE wvEh Sven R Fuo o oftgh o e

Question ID : 9864492536
The smallest pumber that must be subtracted from 2500 so that the obtained pumber is a perfect square is Status : Answered
Ans  of 1. 69 Chosen Option : 4
<29
<3 96
X 473
Q.22 Z7 8 37fr HEAT 136p 5785 & 15 ¥ fsT=w 308 o¥ P = 5o weg 7o
ek N Question ID : 9864492503
ot amg?
Status : Not Answered

If the 8 digit number 136p 5785 is divisible by 15, then find the least possible value of p?

Ans «1. 1

Chosen Option :

K23
<34
K42

Q.23 yare SeAAS s IUEsT Treeddr FIEdT ST davae Ser?
India-born Leo Varadkar became the Prime Minister of which of the following countries?
Ans o

r

Question ID
Status
Chosen Option

19864492165
: Answered
4

Scotland

*

e
Sri Lanka

~ 2.
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v . S
Treland
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Ans

Q.24 feerem gfFdar GAeE € 30T oot FIvRT JEds affed sme/amed

& oL

gEFdtag:

SR QY AR A 3T, OF ASATIS] IHCARS IRYE Al 3.

g
1. FEIET Ul AREHRT Acehrdl IeT HTE.
2. TFET AR A 3T

Question ID : 9864493868
Status : Answered
Chosen Option :1

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
If you’re a classical dancer we have an exciting job
Assumptions:

1. We need a classical dancer.

2. You are a classical dancer.

v

for you.

l.qﬁﬁifflﬁﬁfﬁ1 JdEifed R,

Only assumption 1is implicit

X —
Both 1 and 2 are implicit

x

2ld?€f13ﬂﬁ‘r231'ﬂﬁ‘l%ﬂaﬂﬁﬂ.

3_%3@%23{3%%3311%.

Only assumption 2 15 implicit

x

Neither 1 nor 2 13 implicit

Q.25

Ans

TR e wrer (A), Traes (B) anfor fma
26:13.A:B:C HU e smen

There are red (A), yellow (B) and green (C) tokensinabag. A:B::3:8.B:C::6:13.

A :B:Cis given by:
< 13:48:13
< 23:8:13
W39:24:52
K 43:6:13

41ﬁﬂr2dﬁﬁﬁﬂﬁﬁﬁﬁﬂlﬁa

(C) @/t ¥ET. A:B=3:8.B:C

Question ID : 9864492805
Status : Answered
Chosen Option : 4

Ans

Q.26 77 2017 7, WIS SeredT AT el Fediae Feadr T U

HE FBigerAr Fon g

Who wrote the Indian historical fiction novel ‘The Rise of Sivagami® published in March

20172

e TS Arclehod
Anand Neelakantan

2. 3yl T

Arundhati Roy

x
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| 3ifFer fFemér
Amish Tripathi

o , FFEd TEATSh

Devdutt Pattanaik

x

Qp.html

e

Ans Xl.ﬁ
s
<34
K47

Q.27 ey AT FTUgISTeT ST WhauT Afey fore 1 1073 Yo7 32, = am=n pH faeit

The pH of a solution, whose hydrogen ion concentration is 1 X 10~5mole per litre, will be

Question ID : 9864493310
Status : Not Answered
Chosen Option : --

0% Freddr Forr es e e

Ans Eiﬁ' m_uyr
F
Moving a chair
v &3 : ;
Beating of heart
7S §¢ 0T
53 7 s
Closing of fist
& HOY
4.

Taking an object

x

Which of the following is not a voluntary action?

Question ID : 9864493616
Status : Answered
Chosen Option : 2

ng [ T AR Abtc N mfieid) mAMNE
- Ll

e

0 et e T G ISR ST 8
e

R

3 WA e e e e el ety A el

{ s B et 1 Y e e e b of Bl g et 5
e

S
The 1w 0 St et S i o o it e B
L

L Towe m—— —
T e e A s Bt ] v T Wb

Ans
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Question ID : 9864494379
Status : Answered
Chosen Option :1
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. 8

-t s

\!-‘
W
M
> Iérae 1 fohar 2 3 v siafafea s,
| Either assumption 1 or 2 1s implicit.
< s
W
v/
i
N

Both assumptions 1 and 2 are implicit.

Q.30

Question ID : 9864493969
Status : Answered
Chosen Option :1
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Ans

Qp.html
ferear 3mepdid e SIelr aalicar sHomr 93 feaer.

H HH
_l— =)
o r—rl—i

Select the option that will correctly fit in the blank space in the given figure.

st

HH g | it

N

Q31

Question ID : 9864493762
Status : Answered
Chosen Option : 2
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TeATeg=aT AR SHURT T Ahar [@asT.

JAVVINEN
_I_.

?

AHIXIX

ABCD
Select the correct figure that replaces the question mark.

JAVVINEN
_|_

7

AHXIX

A B C D
Ans X1A

X2cC

X:B

viD

Q32 iR Far ﬁT A= st 3-1'I?‘7 Question ID : 9864493286

Status : Answered

Mechanical energy is the sum of: _
Chosen Option : 3

A
ns x 1 TErdI= ST + a1 F=1

potential energy + heat energy

| I ST + AT ST
kinetic energy + heat energy

| Tl Bt + Feeer e
kinetic energy + potential energy

) T St + fggd F=

x

v

chemical energy + electrical energy
Q.33
$I7-SI' FHIUAT=AT HHAIAT FROTATd. Question ID : 9864493321
. . Status : Answered
The capacity to do work is called: Chosen Option :4
Ans

file:///sysroot/home/user/Downloads/Qp.html
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1 e

power

ald

- pressure
v- e

energy

&2

., T
force

Q34 grefrer wTeTg TAIfESE AWUNd AT F=E

X Ole X[X X[x @
® X|X Ol® ojo X
A B ¢ D

Select the figure that does NOT belong in the following group.

X O|® X|X X|Xx @
8 X|X O|® 0|0 X
A B =, B

Ans X1 B
X2D
vaC
X4 A

Question ID : 9864493926
Status : Answered
Chosen Option : 3

P A AT Ao FeEed T @5 € e

Two or more elements combine to form a:
Ans 1 = (atom)
atom
A= (radical)
radical
T4 (compound)
| compound
o= (valency)
" valency

p )

v

x

Question ID : 9864493187
Status : Answered

Chosen Option : 1

Q-36 e feyer ABC #, BRIV B W &, BC=15 HrHIex Al AB=s Féeiex 71 ik g
ABC #T IRgead s 7 &, &t 3o it = s i

In a triangle ABC, right angled at B, BC=15cm, and AB=8cm. A circle is inscribed in
triangle ABC. Then the radius of the circle is:

e 2

2cm

file:///sysroot/home/user/Downloads/Qp.html
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Status : Answered
Chosen Option : 2
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x> 4 TEHET
4cm

Xsllzﬁﬂmﬁa

lcm
v 3 HETHET

icm

Qp.html

Q.37 @relioTtiehy Wedieh il herdl Tehrel AT HTMOT cliel WHE Feral. 372 FhR

T Tl THE AN THN HIE:
IR
[
V=4
Use each of the following figures only once and form three groups. The three groups so
formed are:
=
SN
V=4

Ans X1 (1,4,7), (3,5,8), (2,6,9)
X 2(1.4,7), (2,6.8), (3.5,9)
v (1,4,7), (2,5,8), (3,6,9)
< 4.(1,5,7), (2,4,8), (3,6 9)

Question ID : 9864493825
Status : Answered
Chosen Option : 3

Q38mmmmmmﬁmmmw

Which of the following devices helps to maintain a potential difference across a
conductor?

Ans X . mar

Question ID : 9864493505
Status : Answered
Chosen Option : 2

Ammeter
5 2 : :
Galvanometer
Teor fhar aeir
A cell or battery
x4 (=i [ g

Voltmeter

v &)

Q-39 T 2018 TR, HTHF=AT UATTET FomT A FoaTT FH7A?
Who has been appointed as the Governor of Assam as of March 20187

Question ID : 9864492427
Status : Not Answered
Chosen Option : --

Ans - T YHTE
Ganga Prasad
aHTTH TEAET

X2

Subramaniam Swamy
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STeTErer HE
3.

Jagdish Mukhi
4 =

Banwarilal Purohit

v

x

Qp.html

Q40 T (C-12) =T TRt YoE Rl 370TET TAT R A
How many atoms will one mole of Carbon (C-12) contain?
Ans X 16,02 x 1026
X 2.60.20 x 10%¢
# 3.8.06 x 102°
v 46,02 x 107

Question ID : 9864493388
Status : Not Answered
Chosen Option : --

Q.41 AT FAEUT G Selel Uah & 5 FATeverared o0 freiidev/ara vaer 391 amor
F. T WA FHIT T U T ISHE Tal ool HaT ol HEe?

A train, starting from rest, attains a velocity of 90 km/h in 5 minutes. Assuming that the
acceleration is uniform, the distance travelled by the train during this time is:

Ans 1.5 frerEeT

Question ID : 9864493240
Status : Answered
Chosen Option : 1

Q42 graT=aT HTSIUT HTelel "STEIATHT SHIUICAT AT Sefolel 387

In which language was ‘Baburnama’, the Memoirs of Babur, composed?

Ans ﬁﬂ
P A '

Kurdish
) gogr
Pashto
~ 3. 3&
Urdu

v
Turkish

x

Question ID : 9864492083
Status : Answered
Chosen Option : 3

Q43 e HEI 32% FEUTS 80 gArd, a¥ o HEAT Sy
329% of a number is 80. What is the number?
Ans 1. 260
W' 2 250
< 3 40

file:///sysroot/home/user/Downloads/Qp.html
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< 450
QM sy76 EF-I{I?:I@ ferddr HE? Question ID : 9864494268

Status : Not Answered

The square root of 5776 13-
Ans X 1. 76
v 2 66
< 3 84
< 4 64

Q.45 5T BACKFIELDS &7 ereeTeliel HaRIeT Sarsfl aufAteredT HATER qavaeT dal,
T HIOTT &R F AT SAAT SISl GHAT ShAlEN 3THA?

If the letters in the word BACKFIELDS are arranged as in the English alphabetical order,
then which letter will be to the second right of the letter ‘F’. after the rearrangement? Chosen Option : --

Ans ch
X 2L
X3 E
v K

U gor FHSONT, F R off AT TR Question ID : 9864493259

Status : Answered

Chosen Option : --

Question ID : 9864493696
Status : Not Answered

In Force equation, F is equal to:
Ans J 1. Ma
& 2. mgh
&< 3 Mv
& 4 utat

Chosen Option :1

Q.47 1 1
AT a+-=3d7Ta+ N\ Question ID : 9864492876
i a
Status : Answered
7 Chosen Option : 2

Ifa + = = 3,thena® + i:
i i
Ans 1 g
K209
v 318
~ 412

Q.48 Teiea 3MFcarear sigiay IMnRd geeegrear el Jondy snddr Fast.

Question ID : 9864494179
Status : Answered

(f@) %@ —(—( Chosen Option : 1
: i Y

Select the missing figure based on the given related pair of figures.

Ans
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Ans

Q.49 Fér=ar gargr=ar U 40 km e FIOUITHIST THT ATSHeT § dTH e
o ST TEIEgRr 3o HIMUATHTS! odTell B 5 old SeTdTd. o ATieresr=im

T2 aroarder I FRr MR

To go a distance of 40 km upstream a rower takes 8 hours while it takes her only 5 hours
to row the same distance downstream. What was the rower’s speed in still water?

. 1.5 km'h

1.5 km'h
) 4.5 km/h

< 2
4.5 km/h
vz 6.5 kmm'h
6.5 km'h
4rﬂrk:n:u'l:l
4 km/h

x

x

Question ID : 9864492810
Status : Answered
Chosen Option : 4

Ans

Q.50 fgrewr wwaTgs wafT e =T

‘Explore’ ¥ ‘Discover &ff Tafag o I8 ‘Walk' § ofr gaftra amg.

Select the related word from the given alternatives.

‘Explore” is related to ‘Discover’ in the same way as “Walk’ is related to

# 1. Find

X 2 Accelerate
v = Ramble
/< 4 Search

Question ID : 9864493935
Status : Answered
Chosen Option : 1

Ans

Q31 yrardier HIUTCTT TSUEEd §aYE faAeas ey

Which Indian State has the most number of airports?

= e |
v &0
Gujarat
& 2 :
Delhi
. 9fFasE e
p )
West Bengal

HEHTSE
Maharashtra

X 4

Question ID : 9864492118
Status : Answered
Chosen Option : 2

Q.52

file:///sysroot/home/user/Downloads/Qp.html
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fafaese FizAEd DOG @ 4167 318 Tfger 30T at #91 MAT & afgar Question ID : 9864493958
Aser? Status : Answered

In a certain code, if DOG is written as 4157, then what will MAT be written as? Chosen Option : 3

Ans X'1.12120
< 213012
v'313120

< 414120

Q.53 @refrer edATaT e &1 10T Weel Scad SULTETS! Wieileldehl SIvrT faermet

Question ID : 9864494328
el 3Med & Bl

Status : Answered
Chosen Option : 3

p, q 30T r & FAex FT 3Mg?
o :

1. (p+q?=16
2. p-q=4r=2p

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘What are the values of p, q and r?

Statements:

1. (p+q)=16
2. p—q=4r=2p

Ans 3 9
WA Icck GUATHTST 1 fohar 2 el SIOTET QU8 ATl

Neither 1 nor 2 is sufficient to answer the question.
YR 3eck GUATHTST Tad 1 G 3.
Only 1 is sufficient to answer the question.

| TRAR S QUATHISY B 2 [ e

Only 2 1s sufficient to answer the question.
v
yeeTd 3ca UG 1 3701 2 gl A 37

Both 1 and 2 are sufficient to answer the question.

5 2

x

.54
Q%% Ifrer FTEFHTAT AT H[ET THT ATIw TOT Question D : 9864494077

Status : Answered
Chosen Option : 4

TSI AT kipercs
Complete the following sentence with the most suitable option.

A shirt always has

Ans HTIE
1

fabric
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N

< 2. hTely
a collar

p )
a pocket

o, T

a button

Q.55 3ram o e T St FETeSE & HAISEL Sz 3T

What is the name of the point at which the chromatids are attached in a chromosome?

Ans Xl_;gﬁaaﬂsﬂn

Nucleosome
v eI

Cenfromere
< 3. : § 2

Centrosome

AT
Gene

X 4

% GoITciTeT T FoTetel HIAMTEAT FEUTAI.
The female reproductive part of a flower is called:
Ans tim

Question ID : 9864493438
Status : Answered
Chosen Option : 3

Question ID : 9864493277
Status : Answered

Chosen Option : 3

Q.57 wfeg smeir e wrféer Borér Ty smunfie s AfedaT F1
. T ATohelel fa=aT Traehd eiell PVl SATFAEe Hiad Hor HE?

Amish Tripathi, a famous Indian writer, is working on a series based on Ramayana, in
which the first two books focus on Rama and Sita, respectively. On which character does
the third book of this series focus?

Ans g;n:";r
Ko 2
Hanuman

ol&HUT

Lakshmana
qHd

Bharata

7~ 2

< 3.
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Question ID : 9864492381
Status : Answered
Chosen Option :1
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Q-58 Ryuarr 9oft Feige FUATHSE WIAEIHT FATAT AR FHal AaT?
‘Which of the following is used for disinfecting drinking water?

Ans 1ETU'a1E1Tm3T

x .
Baking soda
Ul HIST
K22
Washing soda
<3 :
Baking powder
v fearf=reT aast
Bleaching powder

Question ID : 9864493609
Status : Answered
Chosen Option : 3

Q.59 FHTaeT=r TR FIVTE TR TTETHAT STV FFU[ET ATl SeTeT?
‘Which of the following allotropes of Carbon is used as a reducing agent in metallurgy?

Ans « . m
Coke
x5 FTEA =ik
Carbon Black
Cor))
Charcoal
TR

| Graphite

p )

& 4

Question ID : 9864493431

Status :

Not Answered

Chosen Option : --

Q60 7 tana = V2 - 1 38, aT tana - cota #H\Wﬁw‘cﬁ Hg?

Iftana = /2 - 1, then the value of tana - cota =?

Question ID
Status

Chosen Option :

19864492917
:Not Answered

Ans X 1. 2‘\.‘(‘2 -
Vo -2
~< 31
X2 41
Q6! mretrer wa T HiEaT: Question 1D : 9864492699
7Tx{4+(-2)x(=3)}=7? Status : Answered
Chosen Option : 1

Solve the following?
7Tx{4+(-2)x(=-3)}=7?
Ans ‘, 1. 70
X 214
X3 42
<414
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Ans  of 1 F20,687.5
< 2. F10,687.5
< 3. %21,638.5
< 4 20,695

Find the compound interest on T 62500 at 21% per annum for 1 % years.

Qp.html

Question ID : 9864492586
Status : Not Answered
Chosen Option : --

Q83 Freiter wTeTel Waftra ATl AT A=,

B|XBIB

A B C D

BBB

A B C D
Ans XlD

v2C

X 3B

<A

Question ID : 9864493961
Status : Answered
Chosen Option : 2

Select the figure that does NOT belong in the following group.

Q.64 gatg Ftaar afohar ao By 3R, 517 5 afgvii=r se/ 3 aui=ar Faus ser
21T 30T == S a9 50 A

years each is 50 years?

Ans T

What is the age of the eldest sister if, the sum of ages of 5 sisters born at the intervals of 3

Question ID : 9864492513
Status : Not Answered
Chosen Option : --

Q.65 @refter quiter e, Tk U WeATdegr (?) geiadiel 318, Rerear gy
gedAfdegrear SElr oM ug Hasr

5E, 7F, 11H, 17K, ?

(7). Select the missing term from the given options.

5E, 7F, 11H, 17K, ?

Ans X 1.P25
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Question ID : 9864494297
Status : Answered
Chosen Option : 4

In the following alphanumeric series, one term is missing as shown by the question mark
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< 2.Q20
#< 3. N20
W 2 025

Q.66 2017 T, UTeheholcel FooEaT AETETHATIES HIUTCAT HTATT TaTST
WERNT TE0ATT 37T
Which chef was awarded the Padma Shri in 2017 for his culinary contributions?

Ans
1 T g
Vikas Khanna
YT SR
2.
Madhur Jaffrey
3 ! ™~
Sanjeev Kapoor

X 4 TOTEIT ST
Ranveer Brar

Question ID : 9864492374
Status : Not Answered
Chosen Option : --

x

v

Q6723 x 31=713.G70.0713+3.1 = ? Question ID : 9864493001

23 x 31 = 713. How much is 0.0713 = 3.1? Status : Answered
Ans X 1. 0.0023 Chosen Option : 3
< 2.0.23
v 30.023
<423

Q.68 ggr fagzmei=ar sTere v ==t feh. =it Eoea=at 3Te v feaeie
T T S, o 70T SrEearea e TRy U 3 7 A, forer

T St AT AT eI T T aquT < Tt 2. Status : Answered
Chosen Option : 3

Question ID : 9864492698

There was a group of six students who took a test. Another student joined the group after
taking the test later. With her marks included the average score of the group went up by 3.
This student has got marks more than the average marks without her being
included.

Ans Xl- 20
v 221
< 318
< 424

.69
Q% 3N AT AONAT 3ot Udheh 3G Question ID : 9864493342

. .. . Status : Answered
The unit of power used in industry is:
Ans fepeiideT
X1 -
Kilowatts

Chosen Option : 3

[p"
5 3.
Joule
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v IegeEar
4.

Horse power

Q.70 FeHiaT X IfOT Y Ul SeIT Ushaehrean f&eleT are] @Tel. Siegl o $ieard,
tiegT Y < @Eer X ST Il USd. ot X TS Hoedn R gia?

In the moming, X and Y walk towards each other in a park. When they meet, Y”s shadow L
falls towards the right side of X. In which direction was X facing? Chosen Option : --

Question ID : 9864494112
Status : Not Answered

Ans

Q7L wrefrer H’Iﬁﬂ' fodr Bepior 3mea? Question ID : 9864493742

Status : Answered

Chosen Option : 3

How many triangles are present in the below figure?

Ans Xl- 13
X 215
vz 14
X412

Q.72 wrehel 3 HHAAL ATdl Wb Wavman fagaraie vaor Fear fad am:

Kabaddi

Question ID : 9864493843
Status : Answered

P Q R Chosen Option : 4

s T u

Football | ¥

Cricket

In the following Venn diagram the total number of students who play all the three games
is:

Kabaddi

P Q 3

s T u

Football | ¥

Ans 3 9 S+0Q
< 2. S+Q+V
RS
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A fungal cell wall is made of:
Ans m
~< L e 3

hemi-cellulose

< 2. 2

cellulose

FAET
chitin

5 4

lignin

¥ &)

" am efiEh Bfcaw a9 AR @

Question ID : 9864493335
Status : Answered
Chosen Option : 1

Ans (lzr-rmlﬁ!rﬁz]z:na'a

2 hours 1 minute 12 seconds
2w 2 fafere

2 hours 2 minutes

1 ard 590 fAfae

1 hour 59 minutes

o o 2T 2 W

2 hours 2 seconds

>~ 2

~ 3.

Q.74 gftre o= gumdr 2:45:46 AT FATH FE e oy afem fewmof St
HEFIE 4:55:57 T=IaT Wg=rell. g T TN Fard WiomadaT 58 e 40
Fehg, SRR GE o anfor e fewmot arafteder so fafe 20 e

Praneet started his journey at 2:45:46 p.m. and reached the destination at 4:55:57 p.m.
Anit started the journey 58 mins 40 secs after Praneet and reached his destination 50 mins
29 secs after him. How long did Anit take to complete his journey?

=

Question ID : 9864492994
Status : Answered
Chosen Option :1

Q7S glrer arewr wate dvT g qot

TR FATIATT AT 3.

An office always has a/an

A
ns X . E‘Fr
Roof
x 2 L
Car
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Question ID : 9864494128
Status : Answered
Chosen Option : 4

Complete the following sentence with the most appropriate option.
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+

x 5 FITUTRER
Kitchen

PR

v
Authority
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